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1.In a RL circuit b RL IRy &

(a) Current lags behind voltage by 45°URT fava 4
45° ggadi grdt 21

(b) Current lags behind voltage by 90° ¢RT faya &
90° Ugardl eidl &

(c) Voltage lags behind current by 450 faya uRT &
45° ggfadt gidl 8

(d) Voltage lags behind current | faya &RT & 90°
ggfadt gidt |

Ans : (b)

2. Form factor of sinusoidal wave is
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Ans : (b)

4. The direction of current in an AC circuit______
AC TRTY § yRT &t f&2........n.. 8

(a) is from positive negative.E[TcH® & KUTTH®

(b) is always in one direction. A2 T feom &

(c) varies from instant to instant. .&7oT '&foT' § yRadf
(d) cannot be determind e 78t fdar s gawar
Ans: ()

5. For a frequency of 200 Hz, the time period will

be:___ 200 Hz 3Tgfd & feit 31Tad &1d ......... EFTT
(a) 0.05s.

() 0.707 x Max Value/0.637x Max Value (b) 0.005s
(b) 0.637x Max Value/0.707 x Max Value (c) 0.0005s
(c) 0.707 x Max Value (d) 0.5s
(d) 0.637x Max Value Ans : (b)
Ans : (a)
6. Frequency of a DC current is.___.. SI&l aRT &t

3. The r.m.s value of an a.c signal is 10V. It's peak HTEjﬁT ___gHdt gl
value will be:____ a.c Gdbdd &T r.m.s AT 10V &1 (a) Unity/s®Ts
SABTTRAAM ___ & (b) Zero/T
(a). 6.37V (c) 50Hz/508&5T
(b) 1414 (d) 220Hz/2208&3T
(c)141v Ans : (b)
(d) None of these
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7. The value of r.m.s for a sine wave is 100 A. What
will be its peak value? T I a7 & fA€ r.m.s BT
A1 100 A 81 8T it AT o= ghmre

(@) 141A

(b) 150 A

(c) 283 A

(d) 70.7A

Ans : (a)

8. Average value of current in an AC circuit with

respect to its RMS value is always____ &RT &1 3{-Gd
HM 38& RMS AF & Fad........... glar el

(a) more/ TaT

(b) less/PH

(¢) equal/eRTeR

(d) less than or equal/®H IT €RTeR

Ans: (b)

9. In impedance Z= 6 +j8 Q: \UfddTeT Z= 6 +j8 Q &:
(A) There are 8 Q resistances and 6 Q inductive
reactances. 8 Q UfaRiE 3R 6 QO Wfvid Ufqerd eid el
(B) 6 Q resistance and 8 Q inductive reactance. 6 Q
gfary 31k 8 Q WRfvics ufdard g1d 21

(C) 6 Q resistance and 80 Q inductance reactance.

6 Q Ufad 31k 80 Q Webca ufdard gld 2l

(D) 6 Q resistance and 8 Q capacitance reactance. 6
Q ufade 3k 8 Q eriar-ufdend gid 21

Ans :- (B)

10. The inductive and capacitive reactance of a

(D)4 Q
Ans: - (C)

1. The capacity of a capacitor used in power factor
correction is expressed as.___ UldR thael Ba2[ H
TYh bR Ft erdT b fbd Bu # e fdsam s1rar 82
(A) KVA

(B) kW

(C) Volts

(D) KVAR

(E) KV

Ans: - (D)

12. In an alternating current (AC) circuit, the
relationship between capacitance reactance and
frequency is represented by which of the following
options? TcTad! URT (AC) uR9y #, tnRar ufaema
31R 31gfa & afta a1 dey FafdiRaa fawed & § fad
GRT GRIFT STTaT 82

(A) Xc =4mfc

(B) Xc =2mfc

(C) Xc =1/2mfc

(D) Xc = mfc

Ans: - (C)

13. In an RLC series circuit, the voltage across R is 25
V, the voltage across L is 50 V and the voltage

across Cis 50 V. What is the supply voltage in the
combination? f&dt RLC Svitesn Tfdhe &, R & aYeesT 25
V 8, L # dices 50v 8 31R C A dlees1 50 V & G5 &

circuit are 6Q and 8 Q respectively. Its effective TTATS (3TYfd) AT T 82
impedanceis ............. fldt uRaa s ARa qamalRar | (A) 125V
ufdend BH: 6 Q a8 Q &1 39! YHTe Ufdamen (B) 250V
............. gl (C) 25V
(A) 14 Q (D) 200V
(B) 10 Q Ans: - (C)
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14. The total power drawn by a reactive circuit
having 100 KW active power and 100 KVAR reactive
power is in .......... 100 KW dfesd 2Ifdh 31R 100 KVAR
ufdardt 2afds aret fat ufdeardt aRaey grr ot 718 $a

(A) 1004/2 KVA
(B) 200 kVA
(C) 300 kVA
(D) 145 kVA
Ans: - (A)

15. If the impedance and inductive reactance of a
coil are 25 Q and 20 Q respectively, what will be
the resistance of the wire? fc T peil Bt ufderer
3R WRfvies ufdfebar spHer: 25 Q 31R 200 2, d dR &1
ufa?ry = grm?

(A)5

(B) 10

()15

(D) 25

(E) 30

Ans: - (C)

16. If the power factor of a circuit is unity, then
what is its reactive power? 3PR foet afde &1 ufaR
PR gfct 8, dl a1 Refaed uiaR o1 8?2

(A) Nil [

(B) Iron core 3TRRA BR

(C) Max 3iftiad

(D) minimum ~TdH

(E) none of these 8T8 & ®IE &l

Ans: - (A)

17. What is the value of power factor between? TUleR
B3 BT A fbads offar A glar 22

(A) -1to1\-131

(B)- infinity to infinity\- 3/d 9 3Fd

(C)-1to0\-180
(D)Oto1\0d1
Ans : -(D)

18. In ac circuits the ac meter measures the _
vl uRuef d el #iex ___wuare

(a) rms value/af e HeT A

(b) peak value/ TH HIT

(c) mean value/ AT HIH

(d) mean square value/ |Ted o7f AT

Ans : -(A)

19. In an R-L series circuit, if the harmonics increase
in the supply voltage, which of the following is
true? T R-L ST URY #, A 3MYfd st &
3dUA (ETHIAGN) a9 STdT &, dl 79 & & Fa1 98t 82
(A)The current in the circuit remains unchanged.
uRRue & yRT 3yaRafdd &t 21

(B)The current in the circuit increases. TRY # URT
93 3TTdl 2|

(C) the current in the circuit decreases. IRT & TRT
He STTdt 81

(D)The current in the circuit remains in phase with
the supply voltage. TR & URT TS dleesT & 1A
51 H &t 2l

Ans :- (C)

20. In a series resistor-capacitor circuit.. el
gfaRien-bfafgeR afdbe 7.

(A) Voltage lead current. dleesT e & fFAufRa &ar
2l

(B) Current lead voltage. &3¢ dieest &I fHufRa war
2l

(C) Voltage remains in phase with current. @lees1
&IC & 1Y BT A T 2l
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(D) Voltage becomes out-of-phase by 180 degrees
with current. @3¢ & IT dicest 180 f3Ift & 3m3e-31Th
53T § STTdT &
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21. In a series R-C circuit, the AC current is: Tdh
SRAe R-C Afdbe #, AC e gt &:

(A) in phase with the applied voltage@n] dices &
1Y BT H

(B) out of phase with the applied voltage@] daleesl
& 1Y TROT J TR

(C) lead voltage applied &P dicesT BT Acd

(D) is lagging behind the applied voltage &I7] dicesT
JfusswETe

Ans: - (C)

22. Single phase supply voltage is provided to

domestic customers. BRe] ATE®! ® fGTeT UsT &t
3MYfd YRSt Ye™ & 5irdt &1

(A) 420 V cut out at the consumer's or customer's
premises 3UHITHI AT UTEH &b URITH 420 V BT 6
313

(E) Voltage becomes out-of-phase by 90 degrees
with current. ®ic & 1Y dieest 90 33 & 3m3c-3iTw
5T & 1T 2

Ans: - (B)
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23. Power factor of a circuit is determined by ___

faet ufRae &7 21fh TuTias fsads gRT GRifar sTar 82
(a) Ampere-meter/CRIR Hiex

(b) Voltmeter/dleeHiex

(c) Power factor meter/dieR SR HieR

(d) Phase sequence indicator/%sT Hadq sf3dbeR
Ans: - (C)

24. The figure shows that the A.C. quantities are _
3 faa grrfar e fs ___AC ufRRmmor?

v

N\
() In phase/%5T # €1

(b) Out of phase leading/%5T eifST A aTER &
(C) Out of phase current lagging %1 ®ic AT I

(B)230V N
(C)1nov ST _ .
(d) Out of phase voltage leading %3 dicest ofifam &
(D)440V
CIEE
Ans: - (B) Ans - (A)
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25. How many degrees of phase represents one full
1 cycle?

et B febert fRfFT e quf s 6t aftama 22

(a) 360

26. What is the formula to calculate the impedance
(2) of the R.L.C series circuit, if the inductive
reactance (XL) is less than capacitive reactance
(XQ)?

(b) 180 AZ=R*+X{ + X¢
(c) 270 87 = JREF (X =X
(d) 20 CZ=R2+ (X2 — X)?
Ans :- (A) D7 = R (R =X)?
Ans: - (B)
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